
3-Bar Signal
This example implements the following Sell Signal and Buy Signal.

Rules for the Sell Signal:

1. Bar 2 has a higher high and higher low than both bars 1 and 3.

2. Bar 1 is a green bar (close higher than open).

3. Bar 3 is a red bar (close below open or close = open).

Rules for the Buy Signal:

1. Bar 2 has a lower high and lower low than both bars 1 and 3.

2. Bar 1 is a red bar (close lower than open).

3. Bar 3 is a green bar (close above open or close = open).



A – Implements Rule 1: Bar 2 has a higher high and a higher low than Bar 1.

B – Implements Rule 1: Bar 2 has a higher high and a higher low than Bar 3.

C – Rule 2: Bar 1 Close is above its open, ie. a Green bar.

D – Rule 3: Bar 3 Close is <= its Open, ie. a Red bar.

E – Show a marker when all 4 conditions are simultaneously True.  This is the Sell Signal.

Note:  Rule1a, Rule1b, Rule2 and Rule3 are Variables in sequence beginning with Rule1a.

Rows G through K implement the same principles for the Buy Signal.
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